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Subject : PGQPO07-Philosohy

Sl. No.1
QBID:1555021

Choose the correctly spelt word.

(1) Defalcation
(2) Difalcation
(3) Defalcasion
(4) Defalcatation
Frafaf@a § geva wes &
(1) 3d

(2)

(3) @

(4) 9¢

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.
A. Once on their way, the stones did not stop until they reached the bottom of the hall.

B. You had to be very caretul not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :

(1) C.A.D.B
(2) B.A.D.C
(3) B.C.A.D
(4) C.D.B.A

-d &1 By fU U §: U HTUBHYA (Assertion A) P U I fAfEd 8 1 GRT IHD PRUI (Reason R) & $Y T:
HUDHYA A : SPRIA TG AT gietl & |
HRUIR : dfth THT GfetT1 8 | $© e 3(9dTIE 8ld ©. UMY PRI 8Id U HI Uit T g1 © |

SWRIFd YA & 3H@id H, i ST T [db el § I e Iugad IR D1 99 BHifol |
(1) A SRR Hel ¢ IR R. A D el ARAT &

(2) AR RS el . AP R. A B UL IR T8l ©

(3) A¥elg bR eI 76l 0

(4) ATEl ol g diP-1R Jol o

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]

SI. No.3
QBID:1555023

Choose the correct sentence.
(1) We went to the station to see them off.
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(2) We went to the station to see them out.
(3) We went to the station to goodbye them.

(4) We went to the station to say them goodbye.
#1431 FYA BT T §: 0P AfWSHYF (Assertion A) & ¥4 H f1f&8d 2 a1 g6 39& &R (Reason R) & ¥4 &:

AfHHYT A : 59T v IHTRT 2 |
RO R : 70 s@Ria Tee 2 | A7 ot s@Rid e IfRTT T80 & |

SWRIad HY & HElle H, Aid ST T [decdl # 9 999 Iugad IR &1 904 DI
(1) A 3R R 3l 98 € 3R R, A 3 98! o0& &
(2) A 3R R SH 981 g, dfe R, A 1 981 o0 781 &

3) AV e R TS T &
(4) A U1 8l & Afba R T8l &

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]

Sl. No.4
QBID:1555024

Match List I with List I1

List I (Wood) ' List IT (Synonym)
, 1
A pervasive . j: filter
B. [steve II. pidespread
| C. |[potent | I etting
D. esh _ IV owerful

Choose the correct answer from the options given below :
(1) A-II. B-I. C-IV. D-III
(2) A-IV. B-III. C-II. D-I
(3) A-IV., B-1. C-III, D-II
(4) A-IIl. B-1. C-II. D-IV

T 1 & 1Y i 11 DT e Difon

puil W
A. [FHR gl I [RIifd e
3. [Baydd 1. [HRT IR 31 913
chg;s Gl I1I. [fopii @ SEIER]
D.[Goen deIadl |1V, [He @d &l

- fGu 7T fam el & ¥ et IR &1 991 DI
(1) A-II. B-III. C-IV, D-I
(2) A-III. B-IV. C-I. D-II
(3) A-IV. B-1. C-II. D-III
(4) A-L. B-II, C-III. D-IV

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]

Sl. No.5
QBID:1555025
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Which two of the following are in correct form ?

A. Let's go to the cinema, shall we ?

B. Let's go to the cinema, do we ?

C. Let's not go to the cmnema. shall we ?
D. Let's not go to the cinema. shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D only

(4) B and C only

Ryaarmr fPE U A ST U 8 2

(1) T0Fe uig

(2) SRUTd® urg

(3) - HUIg

(4) G oG

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.6
QBID:1555026

Choose the option which is opposite in meaning to the following word:

Castigate

(1) Commend
(2) Reprimand

(3) Flagellated

(4) Commotion

T & Hefd S1-91 dW 98 8 2

(1) &<t & siw=ia S 781 € |

(2) TFpa # i oA ST T @ |

(3) wfeqaE® HHRIG gfew 9N §gag- | faed gl ol & |

(4) < TR g Sqsf &1 agaed a9 & O T & RIF W '3 T 6 |

1[Option ID=19285]
2[Option ID=19286]
3[Option ID=19287]
4[Option ID=19288]

Sl. No.7
QBID:1555027

Identify the correct indirect narration for the following sentence :

"Who now." they had asked. "Will listen to our troubles and protect us from the crocodiles" ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the crocodiles.

sin
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fory 9 &1 SR 3T Sf~d Ug YT 81, 39 oy 9AN $ed & | 97d 3180l gy |

T4 feu Y Al § € 9a9 I9ged SR &1 909 SI:
(1) FaAA.B.D
(2) #a@ B. C.D
(3) $aa C. A. B
(4) #aa D. E. C

1[Option ID=19289]
2[Option ID=19290]
3[Option ID=19291]
4[Option ID=19292]

Sl. No.8
QBID:1555028

Which of the following is a one-word substitute for 'safe to drink' ?

(1) Potable

(2) Suitable

(3) Edible

(4) Phable

Y 59 Yeg $1 49 § § S1H-91 uiaar) wes & ?
(1) THY

(2) F®e

(3) Ty

(4) Fwei®
1[Option ID=19293]
2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]

Sl. No.9
QBID:1555029

[dentify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under
(2) below
(3) above
(4) beneath

frafafEa & g o= § -

Hd feu 7T fasedl # ¥ 999 IUgad IR &1 999 DI
(1) a0 A. B.C
(2) $quB.C.D
(3) $a@ C.D. E
(4) @ A.D.E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]
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Sl. No.10
QBID:15550210

Identify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknown person had left here these things
Y& A1 1 994 BT |

(1) YA BH &I 1 & & |

(2) g1 € &l IS BHE| B |

(3) U B B A1 € &l |

(4) BE Bl UdS a1 & &l |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11
QBID:15550211

Amid economy crisis and political turmoil in Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Raml Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

ficiep1 4 s Hohe Ud Aofad 3f=iifa & dia dicidt &1 a1 nurea fad Fged fearman g »

(1) TEre RREAT
(2) A fapaRkid

H‘.

(3) Hig=<I Iorad
(4) TeEAl AS9E

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
QBID:15550212
Who has become the First female to took the office of President of Tanzania and the third woman head of the government of country in

East African Community ?

(1) Samua Suluhu Hassan

(2) Agathe Uwilingiyimana

(3) Sylvie Kimgi

(4) Sahle-work-Zewde

W1 & APUfa &1 9¢ YR T50 &I arelt Wy Afgan iR gdl 3bie! T | ¥ & TRER WE s aril dien] Afedl &I a1 2

(1) IIHTT YR 5554

(2) 3pTg IERFRAAT
(3) Tyt fefaeh

(4) TEd-g® vag

1[Option ID=19213]
2[Option ID=19214]
3[Option ID=19215]
4[Option ID=19216]

Sl. No.13
QBID:15550213

India held the first spot in the International Shooting Sport Federation World Cup 2022 which was being held n
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(1) India

(2) China
(3) U.AE.
(4) Egypt

SRR YT WIE B des DY 2022 T YR A WYH RIF UK foa, [T st T g3 Ul -

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.14
QBID:15550214

Who has won the Men's Single Title at 79th Edition of the Italian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Novak Djokovic

(3) Rafael Nadal

(4) Roger Federer

W # Saifd gerfeas 9= & 798 SXEXul § G99 @ & Uhdl fadre &l fea oirdl ?

(1) FEag s
(2) SO Fieias
(3) JHT T8I

(4) TSR B

1[Option ID=19221]
2[Option ID=19222]
3[Option ID=19223]
4[Option ID=19224]

Sl. No.15
QBID:15550215

What is the current year estimation of the GDP growth according to the Nirmala Sitharaman in the Union Budget 2022-23 ?

(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

foyefen SiaAw GRT WRgE $1T a9 2022-23 ¥ AR 91 a4 St IS 9fE BT 3FAEE e @ 2
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

1[Option ID=19225]
2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
QBID:15550216
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All the mtellectuals are very emotional. because :
A. They are thinking beings

B. They are logical beings

C. They are mathematical bemngs

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :

(1) A.D Only
(2) B. C Only
(3) C. E Only
(4) D. E Only

AR &S a5 WITE B &, Fife

A. T 9r=4 ardt Uil § |
B. @ aifes wmoft & |
C. g nfurciig wroft 7 |

D. 3 cwiAe § |
E39THRTAE |

H9 feu 7y fawedi & € 9ad IUged SR &1 909 B
(1) FaaA. D
(2) &aua B. C
(3) $aq0 C, E
(4) ®aa D. E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]

Sl. No.17
QBID:15550217

Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player 'XYZ' have hatred for other team-mates
D. Player 'XYZ' shows jealousy

E. Player 'XYZ' shows patience

Choose the correct answer from the options given below :

(1) A. B, C only
(2) A and C only
(3) B. C.D only
(4) A.B. E only

sin
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Peaa & f@onsdl & e Jaiad fdeey 9T |

A. f@ardt 'XyZ' &8 v veRfa sxar g |

B. @St 'XYZ' & €q-4Ga1 ¢ |

C. RSt 'XYZ' ¥ sudn-vcai s ufa gun ¢ |
D. @S 'XYZ' oa4 VeRid #war g |

E. @St 'XYZ' 94 vefRid #war g |

13 feu ¢ fawed & € wa9 Iugad SR &1 999 ST
(1) #aa A. B. C
(2) Fad A 3R C
(3) $aa B. C.D
(4) a0 A, B. E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.18
QBID:15550218

A person can learn Sanskrit without a teacher :

A. It 1s not possible learning Sanskrit without a teacher: as it 1s a technical subject.

B. It is possible to learn Sanskrnit as it 1s non-technical subject.

C. Anyone can learn it: as it is just a language.
D. It can be learned by daily practice under a teacher.

E. It 1s easy for a person. who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B. C and D only

(3) A.B and E only

(4) A and D only

F1 o el sl orus & e dre o

A. & sraas & d5pa SiE1 9RE T8 o, dife U8 U6 geAie! [aud g |
B. S%%d JI91 984 & if® I8 U IR-ae-ie! [99a ¢ |

C. 33 &5 M 99 9%a1 ¢ HifF 95 Faa Ut U & |

D. T &0 g $1 S8 H SiHe U & A1H ¥ b o Il & |
EmfiR<ivmorA o fefiafsa s tmwa s |

Hid feu 7Y faseul # ¥ 999 IUgad IR &1 9949 BIg:
(1) Had A AR E

(2) @@ B. C 3R D

(3) ®a@ A. B 3R E

(4) Fa@ A IR D

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

Sl. No.19
QBID:15550219
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Give below are two statements :

Statement I : Pollution level in Delhi may be reduced by reducing the factories.

Statement II : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect
(3) Statement I 1s correct but Statement II 1s mcorrect
(4) Statement I 1s mcorrect but Statement II 1s correct

R syE e
FY | : fowel § Ugqu &1 WR $REH 921 & H19d ¥ 9Tl o 9%al ¢ |
Y] | : R SR @EH-HgHU AT $d & R W & R 91ds ¢ |

SR FYF F A@AIF H, A1E AU M0 Tl # ¥ 999 Iugad I F1 994 B0

(1) uF I 3R 11 <=1 981 2
(2) &yF I 3R II 2H1 Tod &
(3) FYF ] T8l & Wi &y I 7o &
(4) Y ] To &, At B 11 981 2

1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.20
QBID:15550220

Give below are two statements :

Statement I : Education 1s important for both male and female.

Statement II : Government must encourage co-education. as it is required for country's development.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect
(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I 1s mncorrect but Statement II 1s correct

Rz Rume

Sy | ; gout SR Afgansd, &H1, & e et weaqul @ |
YT [ | : TR &I T5-1am S dicg= <1 It Hife I8 <8 & A & U 6w 3 |

SRIad HYF & ATS H, A4 QU T [AFHed # § G849 IUgad St &1 994 BITo:
(1) $YF [ AR I S+ 981 2

(2) &A1 3R 11 g1 e 8

(3) HYF ] Fel & dfte Sy 11 o &

(4) FYA ] T4 &, Al By [ 981 &

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

Sl. No.21
QBID:15550221
i .. 3 then the value of 1 18
X+ —=2 X
x x
(1) £2

sﬁ

T
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o | 1 @ ., 1 SIHFEGA-

(1) =2
(2) =8
3) =1
(4) =4
1[Option ID=19253]
2[Option ID=19254]

3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
QBID:15550222

Give below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R

Assertion A : If the volumes of two cubes are 1n the ratio of 3:27 then their surface areas are in the ratio of 4:9.

Reason R : If the surface areas of two cubes are in the ratio S : S,. then their volumes are in the ratio §7° : §3°

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation of A

(3) A istrue but R is false
(4) A is false but R 1s true

- gl By 3T U §: U HUBY (Assertion A) B =7 T A& B 1 g8 IUD BRUI (Reason R) B Y T:
HYHY A : TS S U=l D G BT U 3:27 § dl 37 Idg &ABd BT 3IAId 4:9 §HT

BRUIR : Tic &1 G-I & Fag &ABd DI UM S, : S, & dl 39D HGdH BT UM s - §3° GHTI

SWRIGd BYF & 3aid H, A1 34U Y fab el # J et IR &1 99 o |

(1) A SRR GH TAT AR R, A PGSl AT ©

(2) A 3RREH I . A R. A DI Tg! ARSAT Tel o

3) AGI e AfPIR 3T E
(4) AJFIE APIRIT ©

1[Option ID=19257]
2[Option ID=19258]
3[Option ID=19259]
4[Option ID=19260]

Sl. No.23
QBID:15550223

If the high and base radius of a cone are increased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone 1s

(1) 8:27

(2) 75:32

(3) 32:735

(4) 27:8

afe; fovdt T B1 a5 3R UR AT DI HHTE: 50% 3R 25% 1 401 AT dl R WP 3R 70 TP & G- BT HJ4Td Il -
(1) 8:27

(2) W8 32

(3) 32:75

(4) 27:8

1[Option ID=19261]
2[Option ID=19262]
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3[Option ID=19263]
4[Option ID=19264]

Sl. No.24
QBID:15550224

The probability of selecting a vowel from the word TRIANGLE is -

(1)
(2)
(3)

(4)

¥ TRIANGLE # 9 U% ¥R T3 &1 Wfddl =41 5l-

(1)
(2)
(3)

(4)

GOl GO W Wil m= ~d| o == Ol I W GO = ]|

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]

Sl. No.25
QBID:15550225

If one root of quadratic equation 2,2 _3,4(2k+1) = 0 1s five times the other then the value of k is :

3
(1) —
16

3
16

(2) -

3
(3) —-
3

3
(4) =
8

ferameiia TR0 5,2 30 4 (2p41) =0 BT TP §9 GO &1 Ud A1 & &l k &1 A 341 8171 2

3
(1) —
16

(2) -

(3) -

Wlmalw

3
(4) -
8

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]

Sl. No.26
QBID:894221

Avarana Sakti and Viksepa Sakti are the concepts of :
(1) Samkara

(2) Ramanuja

(3) Madhva

(4) Nimbark

3TeRyl Wfaa 3R gy wfe fe &t @R 7 |
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(1) T&HI

(2) YA
(3) HIYT

(4) fyais

1[Option ID=21101]
2[Option ID=21102]
3[Option ID=21103]
4[Option ID=21104]

Sl. No.27
QBID:894222

Which of the following i1s mismatched ?
(1) Advaita — Vivartavada

(2) Nyaya — Satkaryavada

(3) Samkhya — Parnamavada

(4) Bauddha — Arambhavada

FafifEd 3 8 &= o gafea 781 & 2

(1) 3fga-faadag

(2) TO-FHTHaIG

(3) WiEr-uiumHaE

(4) FIG-3RAAE

1[Option ID=21145]
2[Option ID=21146]
3[Option ID=21147]
4[Option ID=21148]

SI. No.28
QBID:894223

Who among the following is considered as the propounder of Shunyavada ?
(1) Nagarjuna

(2) Dignaga

(3) Gaudapada

(4) Vasubandhu

9 & ¥ &9 Sarg &1 yads 9141 ordl @ ?

(1) AFTGA
(2) feam
(3) TiEuE
(4) 9T

1[Option ID=21189]
2[Option ID=21190]
3[Option ID=21191]
4[Option ID=21192]

SI. No.29
QBID:894224

The term Interactionism 1s used with reference to :
(1) the relation among the five senses

(2) the relation between mind and senses
(3) mund-body relation

(4) the relation among the organs of the body
Xleg 3o fopamare feu S A g gar 8 2

(1) U 3l & 919 FaY

(2) 7 3R $fedl & &= day

(3) 79 3R TR & &9 99y
(4) IR & M & o9 g9y

1[Option ID=21233]
2[Option ID=21234]
3[Option ID=21235]
4[Option ID=21236]
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Sl. No.30
QBID:894225

According to Anstotle substances are

(1) abstract entities
(2) manifestation of an Absolute substance
(3) “particular things™ (individuals) in general

(4) purely Gross matters

S HTIRGA B |

(1) SFfd §4IY

(2) ©s fRay ggid @1 sifteafaa
(3) "HRG: fauy a%qu (@afE)
(4) T oS 9o

1[Option ID=21277]
2[Option ID=21278]
3[Option ID=21279]
4[Option ID=21280]

Sl. No.31
QBID:894226

Whose statement 1s — “To be 1s to be the vanable™ ?
(1) Spmoza

(2) Kant

(3) Wittgnesten

(4) Quine

fFE®T HU & - " &4 @A & U IRadRIa &9 T|AT R "2
(1) &=

(2) &I

(3) T

(4) Dred

1[Option ID=21321]
2[Option ID=21322]
3[Option ID=21323]
4[Option ID=21324]

Sl. No.32
QBID:894227

Who among the following philosophers made the statement — substance 1s ‘something. I know not what” ?
(1) Leibmz

(2) Spmoza

(3) Hume

(4) Locke

fFrafafEa qrife! 3 3 feen gega G - @@ ) ‘Fe e AR T Tl & 7

(1) defes

(2) ==

(3) B4
(4) @f®

1[Option ID=21365]
2[Option ID=21366]
3[Option ID=21367]
4[Option ID=21368]

Sl. No.33
QBID:894228

‘The view. that universals only have a logical existence' was accepted by —
(1) Plato
(2) Anstotle

(3) William of Oekham
(4) None of the above

“HEHIA] BT Haa dlfee Awd sidl 8. 9 AFHAEAAE 1 JTURUTEE & RS S [G8s gRI WISR fBa1 71 U1 ?
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(1) =
(2) Y]

[ =3

(3) faferoy e @A
(4) 99 q BI5 T8

1[Option ID=21393]
2[Option ID=21394]
3[Option ID=21395]
4[Option ID=21396]

Sl. No.34
QBID:894229

Who is the author of “On what there 1s™ — 1948 (a paper) ? Choose from the following options.

(1) David Hume
(2) P.F. Strawson
(3) W.V.0. Quine

(4) Ludwig Wittgenstein

3f7 e W T - 1948 (0F IR) & TEF &M ¢ 2 Fofiea el 4 3 37 |
(1) s ggA

(2) 9L.U%. €

(3) Seg Al dreA

(4) Tl fEei=eq

1[Option ID=21397]
2[Option ID=21398]
3[Option ID=21399]
4[Option ID=21400]

SI. No.35
QBID:8942210

S'amkara's Commentary on Brahmasutra i1s known as :
(1) Jhanabhasya

(2) S'mibhasya

(3) Sarirakabhasya

(4) Anubhasya

FERE TR RS BT YIS FT HEaNal 87
(1) ATHH

(2) sfiumg

(3) RRFU

(4) SIUH

1[Option ID=21105]

2[Option ID=21106]

3[Option ID=21107]
4[Option ID=21108]

Sl. No.36
QBID:8942211

Who among the following is the propounder of the idea of Noumena ?
(1) Plato

(2) Locke

(3) Kant

(4) Hegel

& § 319 <EA1 B SEYR & W6a 8 2

(1) e
(2) did
(3) &<

(4) &4

1[Option ID=21109]
2[Option ID=21110]
3[Option ID=21111]
4[Option ID=21112]
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Sl. No.37
QBID:8942212

An Essay concerning Human understanding’ (1688) was written by

(1) Rene Descartes
(2) Locke
(3) Letbniz
(4) Spmoza

A &I FAE & favg d o ey (1688) fwe R foran man ut 2
(1) FHEare

(2) @i®

(3) TaEfca

(4) =g=mn

1[Option ID=21113]
2[Option ID=21114]
3[Option ID=21115]
4[Option ID=21116]

Sl. No.38
QBID:8942213

“Naya” is a metaphysical concept of
(1) Buddhism

(2) Nyaya

(3) Advaita

(4) Jamism

“0 IS BT HEYR § |

1[Option ID=21117]
2[Option ID=21118]
3[Option ID=21119]
4[Option ID=21120]

SI. No.39
QBID:8942214

Which school of Indian Philosophy maintains that non-being is perceived ?
(1) Prabhakar Mimamsa

(2) Buddhism

(3) Nyaya

(4) Advaita

frg YR 2RiF Ad & SHUR UIT ST T0& Sl & ?

1[Option ID=21121]
2[Option ID=21122]
3[Option ID=21123]
4[Option ID=21124]

Sl. No.40
QBID:8942215

Bhava- Cakrah is the concept of
(1) Bhagavatism

(2) Jamism

(3) Advaita

(4) Buddhism

Yo9-9% g H | f5g 3 s@yrm 3 ?
(1) HIFaddiq
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1[Option ID=21125]
2[Option ID=21126]
3[Option ID=21127]
4[Option ID=21128]

Sl. No.41
QBID:8942216

Which one of the following elements is excluded from the number of elements accepted by Charvaka ?
(1) aw

(2) water

(3) fire

(4) ether

Fafaf@d § § 9 9 @ IRa gR1 et ddl &1 9o 4 96 ¢ |

(1) 9

(2) W

(3) 3ffy
(4) HIBTE]

1[Option ID=21129]
2[Option ID=21130]
3[Option ID=21131]
4[Option ID=21132]

Sl. No.42
QBID:8942217

Who among the following feminist thinkers 1s accredited with the notion of eco-feminism ?
(1) Vandana Shiva

(2) Judith Butler

(3) Mary Wollstonecraft

(4) Simone De Beauvorr

e e fars! 4 @ 59 sersafes 3 yru @ weg o a2
(1) g1 R

1[Option ID=21133]
2[Option ID=21134]
3[Option ID=21135]
4[Option ID=21136]

Sl. No.43
QBID:8942218

What is the most prevalent electoral system of Democracy?

A. Plurality system

B. Majoritarian System

C. Proportional representation
D. None of these

Choose the correct answer from the options given below :
(1) A.B.C Only

(2) A.B.D Only
(3) A.D Only
(4) D Only
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dids & 9ad Feaqul yERia g1 S S W 2 0
A. SgTdl Hure

B. Sg8&0® WUl

C. 3furide wia=idd

D. SRiad & d B T8

4 fau U faweal # 9 98 SR A |
(1) A.B.C &g

(2) A.B.D &a@

(3) A.D %aa

(4) D &ad

1[Option ID=21137]
2[Option ID=21138]
3[Option ID=21139]
4[Option ID=21140]

Sl. No.44
QBID:8942219

Principles of liberal democracy include :

A. Government by consent

B. Public accountability

C. Majority rule

D. Recognition of mmority right

Choose the correct answer from the options given below :
(1) A.B. C.D only

(2) A.B. C only

(3) B. C only

(4) C.D only

FaftifRa d 3o I Rigid SR deda & Rigidi F @ § 2

A. 9eAfa ¥ gafife TReR faade 919 $ia<)
B. Sdw® walEcal
C. 9g5= &1 (AaH

D. 39 E® AYFR B ATl

Hd feu 7T faseal # @ 96 IR g4
(1) A.B.C.D &g

(2) A, B.C @@

(3) B. C &aa

(4) C,D &aq

1[Option ID=21141]
2[Option ID=21142]
3[Option ID=21143]
4[Option ID=21144]

Sl. No.45
QBID:8942220

Who among the following said. 'democracy s a government of the people, for the people and by the people'?
(1) Sceley

(2) Hearn Shaw
(3) Lincoln

8

T
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(4) Mill
fafafaa & 8 f$9® SFaR ‘diead aFl &1, Al & g 3R Tl gRI WSR3 I

(1) I

(2) A

(3) f&®A

(4) @@

1[Option ID=21149]
2[Option ID=21150]

3[Option ID=21151]
4[Option ID=21152]

Sl. No.46
QBID:8942221

According to which of the following femimist thinkers ‘the basis of women'’s subordination is ultimately biological’.

(1) Kate Millet

(2) Sheil Rowbatham
(3) Shulamith Firestone
(4) Mary Wollstonecraft

Pt TiaKd fare! & 4 fFue sguR afgmst & srfiaar &1 smuR siaa: 9t 8 1

(1) Fe fide

(2) =fien JaTYH

(3) TOIHE BIEEME
(4) & T BT

1[Option ID=21153]
2[Option ID=21154]
3[Option ID=21155]
4[Option ID=21156]

Sl. No.47
QBID:8942222

In which of the following texts the concept of ‘sthitaprajiia’ is given?
(1) Mimamsa sutra

(2) Bhagvadgita

(3) Kathopmshad

(4) Manusmriti

Fafafad 3 3 19 3 7y # Ruawe $1 [uRo uas 81dl ¢ ?

(1) HEE g

1[Option ID=21157]
2[Option ID=21158]
3[Option ID=21159]
4[Option ID=21160]

Sl. No.48
QBID:8942223

Which of the following does not belong to ‘Prushartha Catustaya’
(1) Vivek

(2) Moksa

(3) Kama

(4) Dharma

Fafafea 3 8 & ‘qourd 9gee’ &1 31 T8l § ?

(1) fag=®

(2) Hig

(3) ®H

(4) oA

1[Option ID=21161]
2[Option ID=21162]
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3[Option ID=21163]
4[Option ID=21164]

Sl. N0.49
QBID:8942224

According to Gandhi which book forms the basis for his notion of ‘SARVODAYA’ ?
(1) Unto Thus Last

(2) Hind Swaraj

(3) My Experiments with Truth

(4) Harjan

T F FFER B! “Haleq” P HAYRM & U B H [P YR TG B 2

(1) 3F T fe9 o

(2) fee T

(3) A1 URURA<Y fag Ty

(4) sRwA

1[Option ID=21165]
2[Option ID=21166]
3[Option ID=21167]
4[Option ID=21168]

SI. No.50
QBID:8942225

Who among the following is the propounder of the notion of Aprthakasiddhi ?
(1) S'amkara

(2) Ramanuja

(3) Dignaga

(4) Kanada

9 & 8 31 JguaiaE] S HEyRI &1 Yads & 7

(1) FH

(2) YA

(3) feam
(4) UM

1[Option ID=21169]
2[Option ID=21170]
3[Option ID=21171]
4[Option ID=21172]

Sl. No.51
QBID:8942226

In a traditional square of opposition. what relation is there between A and I ?
(1) Contrary
(2) Contradictory

(3) Sub Alternate
(4) Sub Contrary

RERFG RIS F T H A HR ] & d9 F 1 98y 3 ?
(1) R{gdd

(2) =TT

(3) Judsias

(4) 39 RAgdia

1[Option ID=21173]

2[Option ID=21174]

3[Option ID=21175]
4[Option ID=21176]

Sl. No.52
QBID:8942227

P-Q.PvQ.P>QandP =Q are all True only when
(1) Pis True and Q 1s True
(2) P 1s True and Q 1s False
(3) P is False and Q 1s True
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(4) P is False and Q 1s False

P.Q. PUQ.P>Q sk P=Q el v@ i § 5@
(1) PYAzARQ A&

(2) PY@R AR Q Tod &

(3) PTade dIRQUT =

(4) P 7ad & SR Q Tod &

1[Option ID=21177]
2[Option ID=21178]
3[Option ID=21179]
4[Option ID=21180]

Sl. No.53
QBID:8942228

The order of the standard forms that make up the premises and conclusion of a categorical syllogism 1s known as

(1) Figure
(2) Mood
(3) Premise
(4) Validity

Us PRy Toae & uRae IR Tl S ol A A S T Fed & ?

1[Option ID=21181]
2[Option ID=21182]
3[Option ID=21183]
4[Option ID=21184]

Sl. No.54
QBID:8942229

Match List I and List I1 :

List I (Propositions) kf;gsiiiitigg
A 11S1sP . |lsP=0
B. [NoSisP I |SP =0
C. SomeSisP II. _ SP£0
D. |Some S i1snotP : _Sﬁ:ﬂ

Choose the correct answer from the options given below:
(1) A-L B-IIL, C-III, D-IV
(2) A-II. B-III. C-IV, D-I
(3) A-IIL B-1V, C-II. D-I
(4) A-L, B-III. C-IV, D-II

YEl-1 & 1Y GaI-11 BT (7 DI

19 g U fwedi & @ Ol SR |
(1) A-I. B-II. C-III. D-IV
(2) A-II, B-III. C-IV, D-I
(3) A-III. B-IV. C-II. D-I
(a4) A-I, B-III, C-IV, D-II

sin

T
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1[Option ID=21185]
2[Option ID=21186]
3[Option ID=21187]
4[Option ID=21188]

Sl. No.55
QBID:8942230

Match List I with List IT :

List I (Converted ) List II (Converse)
A [AlISisP Some P is S (Bv limitations)
B. NoSisP oPis S
C. [SomeSisP Some P s S
FSDIIIE S1snot P _ |Conversion not valid

Choose the correct answer from the options given below :
(1) A-L B-II, C-III. D-IV
(2) A-II. B-III. C-IV. D-I
(3) A-III. B-IV. C-1. D-II
(a) A-IV. B-III. C-II. D-I

Yal-1 & 1Y Yal-11 D1 A Diforg
=i 1 (TREd ) =1 11 ()

A [@isp3 | I [38s.Pe @HIE 3ER)
B. [@5s.PHdle |1 [P d.sEl8

Cc. [#os.p% |PBP.S®

D [P s PAEIE | IV. [®UiRUI AR Tl &

fAafefad fasedi 3 O gel IR &1 99 I -
(1) A-l, B-II. C-III. D-IV
(2) A-II. B-III. C-IV, D-I
(3) A-III. B-IV, C-I1, D-II
(4) A-IV. B-III. C-II, D-I

1[Option ID=21193]
2[Option ID=21194]
3[Option ID=21195]
4[Option ID=21196]

Sl. No.56
QBID:8942231

‘Its good to put water in your body. so it must be good to put water in your lungs’ — Identify which type of fallacy occurs m above
statement.
(1) Appeal to force

(2) Division
(3) Appeal to majority
(4) Irrelevant Conclusion

‘3% TR & U1 STAAT 3T &, SURIU 31U BB | Il STaT 331 811 - UggH 6 SR G0 U $Y4 # (9 USR &1 3RFdar 394 sial & |
(1) FeRewil $34 DI U

(2) f&doH (f@vyem)
(3) sgHd 9 3|

(4) i s

1[Option ID=21197]
2[Option ID=21198]
3[Option ID=21199]
4[Option ID=21200]

Sl. No.57
QBID:8942232

What type of fallacy is commuitted in the following statement — ‘Give me your mobile otherwise there shall be consequences”.
(1) Appeal to force

(2) Appeal to pitti
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(3) Act hommem
(4) Irrelevant conclusion

FrofafEa sy & 59 9eR &1 ahgm ¢ 7 - g3 391 Alegd B g1 a1 uRum e & g daR 8 wedr |
(1) TERGw &4 S U

(2) &a1 & o adia

(3) Us-EifHag

(4) pife fapd

1[Option ID=21201]
2[Option ID=21202]
3[Option ID=21203]
4[Option ID=21204]

Sl. No.58
QBID:8942233

‘I think you will find that this merger is the best idea for our company. especially because disagreement may indicate that this company
1s not the night place for you : Identify the fallacy mvolved m the above statement.

(1) Appeal to force
(2) Appeal to emotion
(3) Appeal to authority

(4) None of the above

T T & & oy i % o faon s o F o w99 o e © faviy w0 § 3u R wife senfa o8 9%d ¢ 9odl & i g o oo fom
el R F81 &° Ug9H & FHUR 20 U 5o # 59 UeR &1 Saar THa 3 ?

(1) TEREH &4 BI U
(2) YiEa1 & U 3
(3) wigsR! 9 g

(4) IRIed d q S5 81

1[Option ID=21205]
2[Option ID=21206]
3[Option ID=21207]
4[Option ID=21208]

SI. No.59
QBID:8942234

A compound statement that is true for every assignment of truth value to its atomic component 1s called

(1) Tautology

(2) Truth value
(3) Statement form
(4) Contingent

US Hgad HYA o A9 TRAN] 9ed & 9 & Vi [aaie & 100 9 8, deandal o

1[Option ID=21209]
2[Option ID=21210]
3[Option ID=21211]
4[Option ID=21212]

Sl. No.60
QBID:8942235

Identify the fourth figure of this categorical syllogism

e —r

(1) S—-M
Sl
P—M

20 S—-M
A

(3)
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M-—P
M-S
S =P
=
48 M-S
A o
PR graare #1 =gy SMefa #1 ggaH |
M-P
(1) S-P

A Bt
P-M
(2) S-M
SR R
M-P
(3) M-S
T =
P-M
(4) M-S
S

1[Option ID=21213]
2[Option ID=21214]
3[Option ID=21215]
4[Option ID=21216]

Sl. No.61
QBID:8942236

If I proposition 1s True then E. A and O propositions will be

(1) E 1s false. A and O are undetermined

(2) A 1s False. E and O are undetermmed
(3) A s False. E 1s True. O 1s True

(4) E 1s True. A and O 1s False

afg 'T' dbared W & ol 'E', 'A', 'O’ d&arad il -
(1) E 333 A iR O sy 2

(2) A 39d@ 3 E 3R O sf3uifa 2

(3) AU s E¥de O 942

(4) ETT® A RO 39T 2

1[Option ID=21217]
2[Option ID=21218]
3[Option ID=21219]
4[Option ID=21220]

Sl. No.62
QBID:8942237

Given below are two statements : One is labelled as Assertion A and other 1s labelled as Reason R.
Assertion A : According to Naiyayikas sound is not eternal.

Reason R : For Naryayikas sound 1s produced and 1s an effect.

In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A 1s correct but R 1s not correct.
(4) A 1s not correct but R 1s correct.

H14 g ®YA 3T U 7 TP HHFUF (Assertion-A) F ¥4 # [f&d § @ g9 39> RO (Reason-R) & FU
HHFYF-A : TS F HTER @ WYd Tol ¢ |
FRU-R : WS & MU G STASHI e SRS S 3 |

PR feu U HYA & F Hoo, Fd 3T MU fdeedl H 9 999 Iuged IR A
(1) A SRR EH T@E AR R, A 3 981 o= &

sin

collegedunia:s

India’s largest Student Review Platform



(2) A 3R R oFl 9@ £ af$a R. A & 98 arem 78 2

(3) AT E AT R US TET &
(4) A Tel 781 &, dfe= R 98l &

1[Option ID=21221]
2[Option ID=21222]
3[Option ID=21223]
4[Option ID=21224]

Sl. No.63
QBID:8942238

Given below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A : Berkley objects to Locke’s acceptance of abstract ideas as the meaning of general terms.

Reason R : Berkley thinks that Locke’s notion of our forming abstract ideas 1s both impossible and unnecessary.
In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A 1s correct but R 1s not correct.
(4) A 1s not correct but R 1s correct.

SWRIad Y & IS d, Ad G T f[decal # 8§ 969 Iugad IR &1 999 BIug

HYHYH (U ; T & 3 TGl B WIYRY UE & o & Y A A 9 965 I HARI ¢ |

BRI (HR) : Tbdl Bl A1 & TP HI YRUN 2 & gAR SAfd ARt &1 Hai sRiva iR sHaws aFi & |

SRIad HYF & [ |, Aid (U 71U f[dFbedf § I Hol IR &1 9094 Hiog
(1) A 3R R 3HI 90 & AR R, A &1 98! o1 7

(2) A 3R R 3Fi 94 & afe7 R, A 9 98 ooren 78 &

(3) AT SFAR 3T &

(4) AT E ASTRIAR

1[Option ID=21225]
2[Option ID=21226]
3[Option ID=21227]
4[Option ID=21228]

Sl. No.64
QBID:8942239

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A : According to Hume all ideas are famnt copies of impressions.
Reason R : According to Hume we cannot have a simple idea of which we have not had a simple impression.
In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both A and R are correct and R is the correct explanation of A.

(2) Both A and R are correct but R is not the correct explanation of A.

(3) A 1s correct but R 1s not correct.
(4) A 1s not correct but R 1s correct.

SWRIad $YF & TS H, Al U T fdecal # 9 989 Iugad IR $1 984 i

4 g ®YF 3T U § U@ HUSYT (Assertion-A) F U # @ 8 a1 g8 39S HRU (Reason-R) & ¥4 H
HHFHUF-A : T0H & HJOR 91! T0a SERI @1 Sy wiafd © |

HRU-R : 570 & AT9R SR UIF S5 Fel HOd Tal ol Godl forgs! §d § SR I = &

IRIad HYH & HTS H, Hid QU 710 f[deca] § 9 gl IR &1 999 Hifod

(1) A 3R R SHI 9@ § AR R, A $1 981 aIreT @

(2) A 3R R SHf 9@ &, dfe4 R, A 31 el oUre 76l &
(3) ATd s dfFT R 39 2

(4) AT E ASTRIA?

1[Option ID=21229]
2[Option ID=21230]
3[Option ID=21231]
4[Option ID=21232]

Sl. No.65
QBID:8942240

sﬁ
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Given below are two statements : One i1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A : For Hegel the function of philosophy is to construct or understand the absolute to prove that truth about reality as a whole

1s knowledge.
Reason R : For Hegel. it is not possible to posit anything apart from what falls under mental concepts. To trace the development of

concepts 1s to trace the development of reality itself.
In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A 1s correct but R 1s not correct.
(4) A 1s not correct but R 1s correct.

SWRIad Y4 & IS H, Ad G T f[decdl H 8 G689 Iugad I) &1 994 Il

14 g1 By U MU §: 0P SHUHUT (Assertion-A) & F9 § ffE¥a 8 & g 39S SR (Reason-R) & 4 &

P UF-A : 270 & R oxft &1 o Pty T @ T e w0 & g Rffa s o onga e S oud A dpf audar s s S = 2

HRU-R : 370 & g, 7FRs smyrms & dad o $2 U o1 8, 39 oamal $6 W UNa S 943 781 ¢! AR & e &1 uar e &
WY grdfaedl & [GHTH &1 gdl =1 5RT

IWRIad $YF & AAI$ H, 4 ey U dFeai § 9 96l IR $1 994 iy

(1) ASRREH 9G ¢ 3R R, A & 98 A& §

(2) A 3R R 2Hl 90 & afeT R, A # 98t ourem 78 &
(3) A T4 % dfFR 3wa 2

(4) AU AF R TT 8

1[Option ID=21237]
2[Option ID=21238]
3[Option ID=21239]
4[Option ID=21240]

Sl. No.66
QBID:8942241

Given below are two statements :
Statement I : For Husserl there is no such thing as bare consciousness devoid of an object.
Statement II : Descartes views mind as an autonomous mental substance which might exist independently of all objects of

CONSCIOUSNESS.
In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both statement I and Statement II are correct.

(2) Both Statement I and Statement II are mcorrect.
(3) Statement I 1s correct but Statement II 1s incorrect.
(4) Statement I 1s incorrect but Statement II 1s correct.

92 Q) Fy= g &

HYT | : g & g owq F Aed SIS a1 76l &
&Y 1 : B 74 B U W@iad AFS 9ad & 9 § g@dl & o 9a41 &1 9y awgefl ¥ sk @dd 9 9 A Ria W@ 9edi ¢ |

IWRIad $YF & ATIS H, H1d 14U ¢ [dheai # 9 951 IR &1 994 Hifog
(1) Y71 3R II =1 9t @

(2) FYF 1 3R II i o0 &

(3) Sy ] T8l &, A= S II 70 &

(4) &uF [ 7194 &, Al Bu= I Tal &

1[Option ID=21241]
2[Option ID=21242]
3[Option ID=21243]
4[Option ID=21244]

Sl. No.67
QBID:8942242

Given below are two statements :

Statement I : According to Russell ‘Knowledge by acquamtance’ means knowledge of things by direct awareness of the things
concerned.

Statement II : According to Russell ‘Knowledge by description' means where we have knowledge by inference from direct awareness of
ntermediary things and knowledge of truths.

In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both statement I and Statement II are correct.
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(2) Both Statement I and Statement II are immcorrect.
(3) Statement I 1s correct but Statement II 1s mcorrect.
(4) Statement I 1s imncorrect but Statement II 1s correct.

Rasyafecumu e

FYF [ : ‘A F IR IRTATHS T4 $1 3pf & T a5 $1 F&a S & gRI I+’

YA 1 : A & IR AGRUTeTE T 961 811 & ol 59 HOR Tl 3R I & T19 &1 GIATd a1 § ST & 7IeH § 919 W 339 & |

SWRIad Y & AlS H, A ST T [Aseal 7 9 981 IR &1 9899 Sifog
(1) Y7 I 3R 11 S+ T81 &

(2) ®YF] R [I S Tad &

(3) U7 ] Tel &, Afted $U [1 704 &

(4) $YF] 04 &, A YT 11 81 &

1[Option ID=21245]
2[Option ID=21246]
3[Option ID=21247]
4[Option ID=21248]

Sl. No.68
QBID:8942243

Given below are two Statements : One 1s labelled as Assertion A and the  other is labelled as Reason R.

Assertion A : For Anstotle there must be self evident first principles or axioms that can be immediately known by intellectual intuition.
Reason R : For Arnstotle providing a deductive proof for an mstance of knowledge leads to an infinite regress of proofs.

In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) A is true but R 1s false.
(4) A s false but R 1s true.

SWRIad $YF & NS H, A4 fGU T fdsed] d 9 999 Iugad IR &1 999 I

Hd &1 Sy AU MU §: 0P Sf4HYT (Assertion-A) & ¥ ¥ fAf@&d 8 @ g1 39 SR (Reason-R) & ¥4 H

AHBYF-A : IR Oy g 78 291 Tt of Wt wum fasia o 9o s Fom 2, R 9ife sl s ga T o1 9an 2 |
HRU-R : 3R & U 99 &1 921 & 1Y e Frearas v\ 1 g9l &1 3 Jfammiaal &1 aid e &3l © |
SWIFd FYF F AAIF H, A4 feU T FFai # F el IR 1 994 S

(1) ASRREH 9d ¢ 3R R, A 3! 98 A& ¢

(2) A 3R R Sl 9@ & afea R, A 91 98 ourem 781 @
(3) ATTE AfFTR 3T B

(4) AEIE TR IO

1[Option ID=21249]
2[Option ID=21250]
3[Option ID=21251]
4[Option ID=21252]

Sl. No.69
QBID:8942244

According to Spinoza God 1s

(1) Creator of the world only.

(2) Transcendent only.

(3) To be identified with the totality of the universe.
(4) First cause and first mover.

9T & SFER WA 8

(1) Fga g &1 Al
(2) Faa g
(3) Falis ®1 THIAl & 91U UgdH o+ & (U

(4) WYH FRU AR WYH Va0 ({E9)

1[Option ID=21253]
2[Option ID=21254]
3[Option ID=21255]
4[Option ID=21256]
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Sl. No.70
QBID:8942245

Who among the following philosophers believes that those propositions which describe the most perfect world the best of all possible
worlds — are true ?

(1) St. Augustine
(2) Descartes
(3) Spmoza

(4) Leibniz

Fafafad e § 8§ ®F 98 Gy &3a1 & & 3§ Sy 9 9aiids 9l 97 d & are &34 & - AR Ui SIE-1E 9d &1 oredl &3d &, 94 & -

(1) ¥F FreH
(2) &M

(3) =Em
(4) TEfey

1[Option ID=21257]
2[Option ID=21258]
3[Option ID=21259]
4[Option ID=21260]

Sl. No.71
QBID:8942246

Arrange the following in descending order of certainty as per Locke’s view

A. Natural Science

B. Sensitive Knowledge

C. Deductions and demonstrations
D. Intuition

Choose the correct answer from the options given below :

(1) C.B.D. A
(2) L. A
3) D.A.B.C
(4) D.B.C. A
FafifEa &1 die & Rl & oFaR Fiiad & oeE! 3 | aaid %

A. UiEiie o=
B. Hdgagiid 14
C. =\ aur uexl=

D. asi=

Hd feu ¢ faseal # | 98 IR g4 |
(1) C.B.D. A
(2) D.C.B. A
3) D.A.B.C
(4) D.B.C. A

1[Option ID=21261]
2[Option ID=21262]
3[Option ID=21263]
4[Option ID=21264]

Sl. No.72
QBID:8942247

According to Vaisesikas existence of the mind is known by which of the following pramana ?

(1) Perception

(2) Inference
(3) Comparison

(4) Verbal Testimony
IR & SER 79 &1 o il & 9 5w yw & gr1 o= oran g 2
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(1) Hd&

(2) SIFHH

(3) 39

(4) Tieq

1[Option ID=21265]
2[Option ID=21266]

3[Option ID=21267]
4[Option ID=21268]

Sl. No.73
QBID:8942248

Given below are two statements :

Statement I : Ramanuja admits the distinction between the indetermimate and determinate perception.

Statement II : According to Ramanuja both indeterminate and determmate perception equally involve a complex content.
In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both statement I and Statement II are correct.

(2) Both Statement I and Statement II are mcorrect.
(3) Statement I 1s correct but Statement II 1s mcorrect.
(4) Statement I 1s mcorrect but Statement II 1s correct.

®YF [ : e Fideas vd sftews vay & i S| & deR #3d ¢ |

HYF | : TS & AJUR ideds iR sfiiews yay SH 7 99F ¥4 3 Us By fivg axg gl 2 |

SWRiad Y & NS H, 14 ST 0 [AFcal 7 9 8l IR 1 994 Sifeig
(1) HYF] AR 11 S T8 2

(2) HYF1 AR [I EH1 Tod &

(3) HYF ] T8l 3 Afe= Su= I Tod &

(4) FuF ] 7Tad &, Al BUF [1 T81 &

1[Option ID=21269]
2[Option ID=21270]
3[Option ID=21271]
4[Option ID=21272]

Sl. No.74
QBID:8942249

Given below are two Statements :
Statement I : Deontologist theories mamtamn that the basic judgements of obligation are purely particular ones like “In this situation I

should do so and so”.
Statement II : Deontologist theories mamtam that the basic judgements of obligation are purely general ones like “we should always keep

our promuses’.
In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I 1s true but Statement II 1s false.
(4) Statement I 1s false but Statement II is true.

YA | : porRIsard figid o8 794 & & afRa & qa Fiofa of ove @ ke & 99 <39 Uiy 72 39 39 0t @ a0 91l |
2 1 + P R a5 A1 § B e 3 7 Pk e @ e ¥ 3R i g o e P e

SWRiad HYF & IS H, A9 ST T [AFcaf 7 | T6l IR &1 999 il
(1) FYF1 3R 11 S 98t 8

(2) Y7 3R II 1 70 &

(3) YT TE B AFTFYF I T &

(4) FYF ] 7T 8, Afebd HU= 11 981 &

1[Option ID=21273]
2[Option ID=21274]
3[Option ID=21275]
4[Option ID=21276]

Sl. No.75
QBID:8942250

Which of the following schools of classical Indian Philosophy believes in arthapatti and anupalabdhi as valid sources of knowledge ?
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(1) Nyaya
(2) Jamas

(3) Mimamsa

(4) Samkhya

URda 2= ¥ FefafEa awerd § § @19 79 & 3y ©id  $9 7 snufufy iR comuafer d Ry a2 2
(1) <1

(2) &4

(3) #Hi

(4) drem:

1[Option ID=21281]

2[Option ID=21282]

3[Option ID=21283]
4[Option ID=21284]

SI. No.76
QBID:8942251

According 1s which of the following schools of classical Indian philosophy. “the knowledge that ‘I am not (the not-self)’. that nothing 1s
mine. that ‘ego is unreal’, * when constantly meditated upon. becomes pure, mncontrovertible and absolute and leads to liberation ?

(1) Jamusm
(2) Buddhism
(3) Samkhya
(4) Nyaya

RRA HRATD GRARING & i gaverdl # 4 g & J9R, <38 94 & # 781 § (9d o). & $8 Wl 0 781 ¢ 98 SEHR 39y &7 9d W aR
wH foan oTan &, € O% fawls, ifdary vd FROy &9 o1 @ SR Hfed X% SR &al o7

(1) o9 yd
(2) a@g ud

(3) 9=
(4) 414

1[Option ID=21285]
2[Option ID=21286]
3[Option ID=21287]
4[Option ID=21288]

Sl. No.77
QBID:8942252

Given below are two statements :
Statement I : S'ankara attaches supreme importance of the revealed truths of the vedas which are regarded as the ‘breath of God’ (yasya

nishvsitam vedah).
Statement II : Main focus of Sankara’s philosophy 1s jfianakanda. not the karmakanda.
In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I 1s true but Statement II 1s false.
(4) Statement I 1s false but Statement II 1s true.

HYF | : Widx dg! B! Gdal B GaIed Hedl &1 WIeR &d ¢ od ‘3R & 49’ & w4 A @ [yfyad 3gn) 79a &2
HYF [1 : TR & G/ &1 J&H &% JHSIS & A (b BHBIS |

SR Y F S H, A9 [GY T [decal # F 981 IR $1 9949 Siog
(1) FYF] AR 11 S Tt @

(2) Y9I 3R II SH Tod &

(3) &Y F8l & Afe= su= I 7T9d &

(4) Y= ] T4 &, Al B 11 T8 8

1[Option ID=21289]
2[Option ID=21290]
3[Option ID=21291]
4[Option ID=21292]

Sl. No.78
QBID:8942253
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According to Nyaya school which of the following are included in invalid knowledge (aprama) ?

A. Alaukika Pratyaksa (extra-sensory perception)
B. Smrti (memory)

C. Sams'aya (doubt)

D. Error (viparyaya)

Choose the most appropriate answer from the options given below :
(1) A.D Only

(2) A.B .D Only

(3) B. C.D Only

(4) A. C.D Only

<ITg RF ¥ ogaR FufafE # | -9 sky 39 (onm) F wnfhe 8
A. Efes Ta

B. §jid (§3ic)

C. 9%g (EeE)

D. Ffe (Audg)

Hd feu 7T faseal # 9 95l IR g4 |
(1) &ad@ A. D

(2) ¥9d A.B.D

(3) ®ad B.C.D
(4) #aa A.C.D

1[Option ID=21293]
2[Option ID=21294]
3[Option ID=21295]
4[Option ID=21296]

SI. No.79
QBID:8942254

Given below are two statements : one is labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A : Vyfianavadins accept the identification of the means and result of cognition.

Reason R : According to Vijiianavadins the object cannot exist independently of consciousness and is itself a form of consciousness.
In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R 1s NOT the correct explanation of A.

(3) A i1s true but R 1s false.

(4) A is false but R s true.

H14 31 FYA 8T U §: 0P AUSHYF (Assertion-A) & ¥9 F ff¥d & @ g9 396 &R (Reason-R) & T4 &
AHHYF-A - ByEae 39 F S1yF 3R 999 F uRomH & 9ieR $d © |

®RU-R : fa9Hag & OR 9% 9091 & fam1 a3 ¥9 ¥ K@ # 981 7@ ISl ¢ 3R 9% 94 9091 &1 06 ¥4 &
IRIad YA & AP | Ad e 0 Asai # § Tat IR &1 994 SIeg

(1) A 3RREH 9@ T SRR, A i W8 & &

(2) A 3R R SFl 9@ & afeT R, A $1 98 ourem 81 &
(3) AU G AfFTR T 2

(4) AN e AFAR IO

1[Option ID=21297]
2[Option ID=21298]
3[Option ID=21299]
4[Option ID=21300]

SI. No.80
QBID:8942255
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Which are the following statements are true regarding Parartha anumana (inference for others)

A. Naiyayikas maintamn that it should have five steps.
B. Mimamsakas believe that it should have three steps.
C. Buddhists believe that it could have only two steps.
D. Jamnas believe that it should have seven steps.

Choose the correct answer from the options given below :

(1) A.B and C Only
(2) A.B. and D Only
(3) A.B. C.D Only

(4) B. C and D Only

fFrafifee § @ S9-91 $y= e s3aE R & e akom ) FaR A w2
A. 3! 1 991 § & 59% Ui 3@aq g1 =ik

B. Hinius! &1 741 § {6 59& 49 3909 311 91ee

C. 9% AMd & & 59& 9 41 3909 51 9%d &

D. S A € & 59& 91a 3aad g dIiey

Hd feu 7T faseal # ¥ gl IR g9 |
(1) daa A, B3R C
(2) a0 A, B, 3R D
(3) $TWA.B.C.D
(4) #aa B. C 3R D

1[Option ID=21301]
2[Option ID=21302]
3[Option ID=21303]
4[Option ID=21304]

Sl. No.81
QBID:8942256

Given below are two statements :

Statement I : Advaitins accept that all cognition s self valid.

Statement II : Advaitins speak explicitly m their definition of perception of the independent existence of objects.
In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I 1s correct but Statement II 1s mcorrect.

(4) Statement I 1s mcorrect but Statement II 1s correct.

FYA [ : Agdae] WieR $3d ¢ 1o 94t 319 @ yEa ¢ |

HUF [1 : Hd daria agsll 31 Wad I &1 A9 YA B 9RUE § WY F9 F WeR 5 @ |

SWRiad HYF & AAS H, A9 ST T [9Fcaf # § 6l IR &1 999 i
(1) Y71 3R II S 9t @

(2) &Y 3R II S 704 &

(3) ®YF [ 98l 8, dfcb= Sy [ 7T0d &

(4) FY [ a4 &, A BUF 11 961 &

1[Option ID=21305]
2[Option ID=21306]
3[Option ID=21307]
4[Option ID=21308]

Sl. No.82
QBID:8942257

According to Jeremy Bentham . how many elements or Dimensions are described to calculate Pleasure and Pam i determming the
Relative worth ?
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(1) — Four

(2) — Five

(3) — Three

(4) — Seven

SRl dud & SER 9y geu Fuiia s F og ok g5 @) A & e st & feas ol @1 auie e man @
(1) d9R

(2) U=

(3) &=
(4) 9id

1[Option ID=21309]
2[Option ID=21310]
3[Option ID=21311]
4[Option ID=21312]

Sl. No.83
QBID:8942258

The book “Cntique of Pure Reason™ was wrnitten by-
(1) Hume

(2) Hegel

(3) Immanual Kant

(4) 1.S. Mull

(1) &

(2) &

1[Option ID=21313]
2[Option ID=21314]
3[Option ID=21315]
4[Option ID=21316]

Sl. No.84
QBID:8942259

Who advocates that “Right thinking is essential to Right Action * ?
(1) Plato

(2) Bentham
(3) Socrates

(4) Anstotle
P 3U 17 F IHE T & 5 < 99 98 a4 F g smawms B |

(1) @&
(2) Fym

(3) g*d
(4) SITE]

% 1

1[Option ID=21317]
2[Option ID=21318]
3[Option ID=21319]
4[Option ID=21320]

Sl. No.85
QBID:8942260

The Book ‘Symposium’ was written by —

(1) Anstotle

(2) Plato
(3) Socrates

(4) 1.S. Mill

e fmifae feas g fordt 75 6t 2
(1) S

(2) wel

(3) g+

(4) ©. U9 @
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1[Option ID=21325]
2[Option ID=21326]
3[Option ID=21327]
4[Option ID=21328]

Sl. No.86
QBID:8942261

How many types of Purusharthas are there in Indian Ethics ?
(1) Two

(2) Three

(3) Four

(4) Five

YRAE Afdeal & fea veR & gourd § 2
(1) &l

(2) &

(3) diX

(4) g

1[Option ID=21329]
2[Option ID=21330]
3[Option ID=21331]
4[Option ID=21332]

Sl. No.87
QBID:8942262

Which of the following is not considered as a deabt( Rina) by the Indian Philosophy ?
(1) Rishi-Rina

(2) Deva-Rina

(3) Pitr-Rina

(4) BhU ta-Rina

YRdg 2% & PefifRa A s @ pw S Fud g T8 2
(1) Y B

(2) Za-H0

(3) fUg-»u

(4) Hd-BU

1[Option ID=21333]

2[Option ID=21334]

3[Option ID=21335]
4[Option ID=21336]

Sl. No.88
QBID:8942263

The Book *Gita Rahasya’ was written by-
(1) Dr. S. Radha Krishnan

(2) M. K. Gandhi
(3) Lokmanya Bal Gangadhar Tilak

(4) Annie Besant

e W [ feas g1 gt g o 2

(1) Sl 09 AYTHFUH

(2) ©H &, e

(3) AN aa TR faae
(4) Tl e

1[Option ID=21337]
2[Option ID=21338]

3[Option ID=21339]
4[Option ID=21340]

SI. No.89
QBID:8942264

‘Yogaha karmasu Kaushalam’ 1s the teaching of which of the following text ?
(1) Bhagawad Gita

(2) Samkhya pravacan sutra
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(3) Tripitak

(4) Tattvarthadhigam sutra

TN BHY SR -Fafited 3 9 B9 a= 31 e g2
(1) HEeHal

(2) 9= Ha9H 3

(3) ffte=

(4) @ ferm g3

1[Option ID=21341]

2[Option ID=21342]

3[Option ID=21343]
4[Option ID=21344]

Sl. No.90
QBID:8942265

In Jain Philosophy and Ethics the state when Karmic Particles actually begin to flow towards the soul to bind; it is called .
(1) Samvara

(2) Asrava

(3) Nirjara

(4) Moksa

o gRIF SR Afaedl # 98 oew 99 ‘FH-SU Ia H A ¥ 99§91 & R ST i SR HaRid 517 W & a SU 6w B R Bed & 7
(1) ¥R

(2) 3NXG

(3) fala

(4) Hig

1[Option ID=21345]

2[Option ID=21346]

3[Option ID=21347]
4[Option ID=21348]

Sl. No.91
QBID:8942266

‘Ignorance is the real cause of Bondage’ who agrees with this ?
(1) Jamsm

(2) Buddhism

(3) Vedanta

(4) All of the above

‘3 B S FT TR SRR G 599 oA @ 2
(1) &9 d

(2) sig o

(3) dgid

(4) IWRiad g4

1[Option ID=21349]
2[Option ID=21350]
3[Option ID=21351]
4[Option ID=21352]

Sl. N0.92
QBID:8942267

Which school of classical Indian Philosophy advocates the notion of five Yamas ?
(1) Yoga (Patanjali)

(2) Nyaya

(3) Sankhaya

(4) Charvaka

R HRAT = &1 &9 1 7d ‘99 99 $1 ufiug & 8 2

(1) T
(2) <G

(3) g=m
(4) IE®

1[Option ID=21353]
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2[Option ID=21354]
3[Option ID=21355]
4[Option ID=21356]

SI. N0.93
QBID:8942268

What are the most common classifications used today for Euthanasia ?
(1) Active

(2) Passive

(3) Both (1) and (2)

(4) None of the above

sBWY & U e IuE fEy 91 i 9ed i e ifewo @ § 2

(1) gf$g

(2) sy

(3) &M (1) 3R (2)

(4) IWTd H § I T8

1[Option ID=21357]
2[Option ID=21358]
3[Option ID=21359]
4[Option ID=21360]

Sl. No.94
QBID:8942269

Which of the following is an accepted view in classifications of Environmental Ethics ?
(1) Egocentric

(2) Anthropocentric

(3) Pathocentric

(4) All of above

-4 fau Y yatexuia Aftea & w8l affevo &1 9a1 T |

(1) ESKRI

(2) HFG Higd (R bigd )

(3) AfiedEE (AHTAER )
(4) IWRiad g4

1[Option ID=21361]
2[Option ID=21362]
3[Option ID=21363]
4[Option ID=21364]

Sl. No.95
QBID:8942270

Which theory about Environmental Ethics maintains that ‘The good of another person, another group or All mankind is irrelevant.

(1) Egocentrism

(2) Biocentrism
(3) Holism
(4) Pathocentrism

qaiaRy el & O H &I - 91 [Gid 38 Al ¢ & e g wfeq, gax 99g 91 941 Ad Sifa &1 HaTs SRR 372
(1) AeHRAIG

(2) &g HixFHae
(3) THICI

(4) AfieaEe ( AHgaER )

1[Option ID=21369]
2[Option ID=21370]
3[Option ID=21371]
4[Option ID=21372]

Sl. No.96
QBID:8942271

Who wrote the Book ‘The kingdom of God 1s within you’ ?

(1) M. K. Stalin
(2) Leo Tolstoy

(3) John Ruskm
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(4) J. L. Nehru

g fdTreH i s so RcgA g fea S pfa g 2
(1) ©H &, Ml

(2) T eieverg

(3) &4 s

(4) 9T T/E

1[Option ID=21373]
2[Option ID=21374]
3[Option ID=21375]
4[Option ID=21376]

Sl. No.97
QBID:8942272

Gandhiji based his concept of ‘Ahimsa’ by which Book and linked it to the idea of non-attachment and Freedom from hatred. pride and
anger.

(1) Bhagwad Gita

(2) Ramayan

(3) Maha Bharat
(4) Upamnishad

misfieht 3 Cfgar 1 el sEuRm #i fFY e R ameia faan ok o 98 sfeq, yon, M iR By g & AR I Wisa § |

(1) Yiaeiarn
(2) JHIEU
(3) HelHIRd

(4) IulAug

1[Option ID=21377]
2[Option ID=21378]
3[Option ID=21379]
4[Option ID=21380]

SI. N0.98
QBID:8942273

Who among the following propounds the view that means justify the End ?

(1) Swamu Vivekanand
(2) Swamu Ram Tirtha
(3) J.L. Nehru

(4) M.K. Gandhi

FafafEa & @ f5ue gr g8 e saifea o o i wrem e & st & Rig s € 2
(1) @ fddare

(2) w@rdt TETY

(3) ©. U9 5w

(4) UH. &, T

1[Option ID=21381]
2[Option ID=21382]
3[Option ID=21383]
4[Option ID=21384]

Sl. No.99
QBID:8942274

Who among the following is the author of Riddles of Hinduism' ?

(1) Swamu Vivekanand

(2) Dr. B.R. Ambedkar

(3) M.K. Gandhi

(4) J.L. Nehru

Fed 3 am ow o Rgsew #TdE® & 2
(1) @ faasTg

(2) i 4l 3R asH

(3) ©H. &, i

(4) o. U@ A5E

1[Option ID=21385]
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2[Option ID=21386]
3[Option ID=21387]
4[Option ID=21388]

Sl. No.100
QBID:8942275

Which theory of Ethics advocates “The greatest happiness for the greatest Numbers™ ?
(1) Egoism

(2) Positivism

(3) Utiitarianism

(4) Deontology

“fwman dem &1 Hfisan g8 feg Hifoerda e g wfaofea fem mm 8 2
(1) SgHAIg

(2) UO&TdIg

(3) IWIREERE

(4) FoOHASAEG

1[Option ID=21389]
2[Option ID=21390]
3[Option ID=21391]
4[Option ID=21392]
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